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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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WU A
SECTION A

Ql. Tr=feiRea werl & @ weres =1 e 150 vregl § EETETEATRSE TeTor AR

Critically examine the following statementsin about 150 words

each :

(a)

(b)

()

(d)

(e)

URC-B-HST

“rerre sl T it g o 1839 # g oft | R U R v ¥ R
FUSTRAT o faThie &1 Goha o1 |7

“Maharaja Ranjit Singh died in 1839. His death was the signal for an
outburst of anarchy all over the Punjab.”

“o gRfE SN § S@ AR Ugene sTafue ot qun sfl-andt sigia A
& o, 6 T AfefR st 3gR anfife-gur s<ieHt @ ww 6 |7

“In the initial stages, when Indian nationalism was immature, just

sprouting, it found expression in many liberal religio-reform
Yy

movements.”

“20e1 wTeft % ye & ST Tt wre afer § ome ol v & f g
Tishaat & H1 foram a9 s et wewe & Rt & uoefifae qen
FI Tl W Hfga fomar 1

“In the early twentieth century, there came into existence a number of
women’s organisations, which operated more actively in the public arena
and focused more directly on women’s political and legal rights.”

“URd # ¢ I TG 3 HEEYEl USTEl W T Fae TP TEE % AEH H
Tree foRa ot 3 Al & sHes faww o w@ww ) oft wfya fen \?

“The Trade Union Movement in India not only supported the call for
national struggle at critical junctures, but also impacted its course and
character in several ways.”

“arefiE JareTt | IR SraiaT qU 3R HA % YR W e HisvedeT Wy
30 frehd o uge 5 favrem & wohm =gt qen @i weam o (7
“Based on his discussion with Indian leaders, as well as his own

perception, Lord Mountbatten soon came to the conclusion that partition
was the only practicable and feasible solution.”

10x5=50
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Q2. (a)
(b)
(c)
Q3. (a)

(b)

(c)

URC-B-HST

g1 7 el SR Wl Tenedt & aneeh R # sl w1 On v w1
foega U= &t ' aEifos Remm s fen — 58 aes # wie § s
TR 3o Freft 3 figorr & w3 fR 1”7 gRear smen S |

“It was Dupleix who had first showed the way of intervening in disputes
of the Indian rulers and thereby acquiring political control over vast
territories — a technique which was later perfected by the English East
India Company.” Elaborate.

1857 % fI5is # Th o GHT % 9 I AT F AT Rt @ e
A W1 AT @ | 3G BRI &l @IS hael U1 & 7G0T & &9 0 & 7
wTh o 30 g |rifores 3t onfes qiteds Y welt Wik § 9
=1fee Forae e qugrEl w wem e | @ Hif

For long, the Revolt of 1857, has been mistaken to be a mere mutiny of
the Indian sepoys in the Bengal army. However, its causes need to be
searched for not only in the dissatisfaction of the army, but in a long
drawn process of fundamental social and economic change that upset the
peasant communities. Discuss.

T A9k HATAR WRA § 1857 ¥ qd 3T 1855 — 56 1 woret & (ighe)
TEY TSR ST Ao o ?

Do you feel that the Santhal Hool (rebellion) 1855 — 56, was the most
effective tribal movement in pre-1857 India ?

Y ARF A § ToHifod Fasr I g 3y why she w9 of
Th AW IRAGEE §TA 7@ @1, W9 € GeAenl 3 Sig Y e §
w3 7 H ff wive fe on | = A 929 3@ 9@ A g w0 § S
! TATYAT Th GRE area’ & &9 ° i S off 2 wm i |

In its political behaviour the Indian National Congress in its early
career was never a radical organisation, besides the founders of the
Congress involved A.O. Hume in their project. Do these facts verify that
the Congress was founded as a ‘Safety valve’ ? Explain.

T AT 34 727 | GeHd & (6 T e h Wy FAHHSAdT a1 TPAE!
Rges W SR ISR A it wfafaften % fog aitfeafes 1 fmfor e 2
foasm hifw |

Do you agree with the fact that the virtual failure of the
Non-Cooperation Movement and the gloom that descended on the
nationalist scene, created conditions for revolutionary activities ?
Discuss.

oM 1 39 WRETE SR F w9 § 3@ = fes 3uim @ aefiw s
1 GHTE foRaT ST gehar o1 | gheer Hifv |

Planning was seen as a powerful instrument that could be used to
remove regional inequality. Examine.
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Q4. (a “andm uefy % el aur farereg & § widsh oA forg T weaert
Ry #1 g W gH /it I fhd B orem T e afer giegds
TOURRT % @ B THYRET % i 4 sig fen 17 fadee fifd

“In the divided and contestable space of Indian politics, Gandhiji could
claim for himself a centrist position because he alienated neither and
tactically combined the goal of the moderates with the means of the
extremists.” Discuss. 20

(b)  “ItT AT % UTEIq WRA-SH WY 9gd TESE % W Y g, /g
3 AT FET A WRG ) I ATHHHAT & Hed WG HT AT HET TG 1

wferar =ren HifT |
“After Indian Independence India-China relations started on a high
note, but during the course of the coming years India had to face a bitter e
experience due to the Chinese aggression.” Elaborate. 20
(c) “UTeTE YR W TS T YAie TP g@iohol Tl Tehiehlul 1 THE@ 98
o1 |” feoaeft hifre |
“The Reorganisation of the States on the basis of language was a major
aspect of national consolidation and integration.” Comment. 10
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wE B
SECTION B

Q5. FrefeiRaa wadl § | T &1 TRTHIT 150 YIsel § THTA eHTeH gderon HifR :

Critically examine the following statements in about 150 words

each :

(a)

(b)

(c)

(d)

(e)

URC-B-HST

“Tee ¥ g $O TR ¥ i wif B @S aun gl o faem
§|”

“The principles of Enlightenment were in some ways a continuation of
the discoveries and theories of the Scientific Revolution.”

“G 1789 I HiE h Hif H HRON B Jeiemiferss qUl STETT HRON *
WYY qehTe TeATd off sfera off |7

“The causes of the French Revolution of 1789 included both long term
and structural factors, as well as more immediate events.”

“sréraeft AR HIEEH], TEGH a1 Wl aeet 9 % 3G % WY Nefh
i~ & OIHT TR o Terifash TR ge |~

“Industrial Revolution had far reaching social and political consequences
with the advent of assembly line factories, urbanization and rise of the
urban working class.”

“Ju T B 9 b wiged H T fwd’ F w9 H I W0 A A @ yem
fava & el dima 9, ot 1 & R fovs % wrETdl ou A wrefE
al”

“The multitude of newly independent countries came to be known as the
“Third World’, belonging neither to the First World of capitalist
democracies, nor the Communist Second World.”

“U¢ 1948 H, ! 7 Frefied= @ g Y& w0 o1, MR 34 7 & fow =t
qell 3 A <hi oft | IRel qen et % Hea St fwn ok wew S 17

“The British were slated to withdraw from Palestine in May 1948, and
both sides prepared for that day. Violence between Arabs and Jews,
already endemic, escalated.”

10x5=50
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Q7.

URC-

(a) .

(b)

(c)

(a)

(b)

(c)

-HST

“Yfer T T FfReET @ o1 Teg 3EY 1789 ¥ 1791 % Wed gT I
ifehrl IREdl ® ggedt YgH H a1 I WA Feud Rl % e
foem qeon et 1w fran 17 fag Aifv

“Napoleon was not a revolutionary but he solidified many of the
revolutionary changes of 1789 — 1791 and he himself supported most of
the ideas and proposals of Enlightenment philosophers.” Substantiate.

“Trept h geu Aftumon ot 6 qrEwen & g2 % e T Bl w9 # faofy
T BN AT 38 FHSNG1 g ATk T % Al A€ S Fehal |7 1w T8
g W forer 1 sffem & ded A feugft seqga i |

“Lincoln’s main thesis was that the Slavery issue had to be decided one

way or the other and could no longer be evaded by compromise.”
Comment in the light of his role in the American Civil War.

“@_ 1848 st HIf<ET 7 O TonSA 1 wEdfia W e e 3 @ P 9
T2 BISAT Y81 | Sl §9 W@ I IQRAR, LTS a1 GHISETE AHa quf
I o |7 feoquft S |

“The 1848 revolutions frightened the crowned heads of Europe and

caused several to abdicate. Those who remained were cognizant of the
threats posed by liberalism, nationalism and socialism.” Comment.

“forcteh W1 wF quT AR’ HT Wiwor e I F TR § 38 gr fRu e
wiftremeft T 3 foremh @i o SiEeR (Iron Chancellor) % &9 # fyeamd
X T 1 wmTeteATens qhiger Hifda |

“From Bismarck’s ‘Blood and Iron’ speech and his forceful actions to

achieve German unification, Bismarck came to be known as the Iron
Chancellor.” Critically examine.

1 I T S A WEAd 3 T Ty foma gg sfem &1 qod faeaas 3¢
o1 ? Afaer samen Hfa |

Do you agree with the statement that the Second World War was
history’s most destructive war ? Elaborate.

31 aitferfadt i fodem Hifsie SAF $ro o 1962 § wiw =t sreshifan
BISAT UST AT |

Discuss the circumstances leading to the French exit from Algeria in
1962.
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Q8. (a)

(b)

(c)

URC-B-HST

wiftd 7 fpa ger afm 6 fauma sicifas wifa S @ Sem™m a=
FEEAETE % AT qwl H SgH WeId WY (J,UH.TH.IR.) H Th HERIRE
a1 feam 2

How did Stalin build on Lenin’s legacy of Bolshevik Revolution and
introduce new elements of totalitarianism to transform USSR as a
superpower ?

fid g b wAIH & v fova ToEifa #§ w Aw wife Al o 3ed ge |
foweo e fop fore ToPR 9@ U590 Wl (J.09.U.) THATH TEIe 4
T |

A new configuration of power emerged in world politics after the end of
the cold war. Analyse how USA managed to become the sole superpower.

ArereATeRs qhger hifsie f6 = a8 wew Sfua g 6 e wad 9
JOfen X fefear & SR okt Tg-fmior % %R &% fore welt-wifa dam &
q |

Critically examine whether it was true that after a century of
dependency on Europeans, Africans were ill prepared for the task of
nation-building.
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